
SM30082BU [Cushion Set, Gray & White Vinyl,  

Unassembled w/Brackets – (2 pc.)] 

Instruction Guide 

 
1404 13th St. South     Humboldt, IA 50548     Phone: 844.247.2162     www.hy-capacity.com 

 

 

 

Items Included:  

(4) 3/8” x 1-1/2” Bolts  (6) 3/8” x 3/4" Bolts   (10) 3/8” Lock Washers  

(2) 5/16” x 3/4” Bolts   (2) 5/16” Lock Washers  

 

1. Place side brackets (angled out) on each side of seat  

2. Using four 3/8” x 1-1/2” bolts with lock washer, place wood spacer between seat and 

bracket. Finger tight all four bolts (both sides of seat)  

3. Using four 3/8” x 3/4” bolts with lock washers, attach lower back to brackets  

4. Using two 3/8” x 3/4" bolts with lock washers, attach upper back bracket to center of 

lower back  

5. Using two 5/16” x 3/4” bolts with lock washers, attach upper back to bracket  

6. Make sure all bolts are tight  

 


